11/16/22, 3:29 PM Direct-Hit -- Search

FASTENER TIGHTENING SPECIFICA...

FASTENER TIGHTENING SPECIFICATIONS (1.4L LUH, LUJ AND LUV) (ENGINE MECHANICAL - 1.2L Document ID#
(L2Q LDC LWD) OR 1.4L (L2I L2N LDD LUH LUJ LUV)) 2366974
Fastener Tightening Specifications

Fastener Tightening Specifications

Specification

Application Metric English
Air Conditioning Compressor Bracket Bolts 22 16Ibft
Camshaft Actuator 50 + 60degrees | 37Ibft + 60degrees
Camshaft Bearing Cap Bolts 8 711bin
Camshaft Cover Bolts 8 711lbin
Camshaft Position Actuator Solenoid Valve 8 711bin
Camshaft Position Sensor Bolt 6 531bin
Camshaft Sprocket Bolt 50 + e'zcl))degrees 3d7e|gbr<fate:(?())
Catalytic Converter Bracket to Cylinder Block 22 161bft
Catalytic Converter to Bracket 22 16 Ibft
Catalytic Converter to Turbocharger (V-clamp) 13 115Ibin
Connecting Rod Bearing Cap 25 ji)degrees {jigbrzte:(ﬁ
111Ibft + 45

150 + 45degrees

Crankshaft Balancer Bolt degrees + 15
+ 15degrees (1) dggrees(l)

891bin + 60

Crankshaft Bearing Tie Plate Bolts (M6) 10+ 60degrees + degrees + 15
15degrees (1) degrees (1)

Crankshaft Bearing Tie Plate Bolts (M8) 25 +60degrees + | 18Ibft + 60 degrees

15degrees (1) + 15degrees (1)
Crankshaft Position Sensor Bolt 8 711bin
Cylinder Head Bolts 35 + 1(810)degrees delt;’:ze-l-s (118)0
Drive Belt Tensioner Bolt M8 22 161Ibft
Drive Belt Tensioner Bolt M10 55 41 Ibft
Engine Cooling Thermostat Housing Bolts 8 711bin

https://dh.identifix.com/SearchFixes/Index?R0OID=332530727&VID=2377372&VSM=1&Locationld=2&WorkflowPath=1&KW=Cam Cover#KW=Cam%2... 1/4



11/16/22, 3:29 PM

Direct-Hit -- Search

Specification

Application Metric English
Engine Front Cover Bolts M10 35 261bft
Engine Front Cover Bolts M6 8 711lbin
i 60 + 45-60 44 |bft + 45-60
Engine Mount Bracket Bolts degrees (1) degrees (1)
Engine Mount Right Side to Body 62 46 Ib ft
Engine Mount Right Side to Engine Mount Bracket Sgeg:e:so(_17)5 37(:"2;tr;e56?1_)75
Engine Oil Filter Cap 25 18 Ibft
Exhaust Manifold Heat Shield Bolts 8 711lbin

Flywheel Bolts (Two-Mass)

60 + 45degrees +

44 |b ft + 45 degrees

15degrees (1) + 15degrees (1)
Fuel Injection Rail to Intake Manifold 6 531Ibin
Generator to Cylinder Block and Engine Cover 35 26 1bft
Ignition Coil Bolts 8 711bin
Intake Manifold Bolt 20 151bft
Knock Sensor 20 15Ibft
Oil Cooler Coolant Inlet Pipe to Qil Cooler 10 891bin
Oil Cooler to Engine Block 20 15Ibft
Oil Cooler to Qil Filter Assembly (only bolts serviceable) 10 891bin
Oil Filler Plug to Engine Front Cover (M18) 30 221bft
Oil Filter Assembly to Block 20 151bft
Oil Gallery Plug in Engine Front Cover (M22) 60 44 b ft
Oil Pan Bolt 10 891Ibin
Oil Pan Drain Plug 14 1241bin
Oil Pressure Indicator 20 15Ibft
Oil Pressure Relief Valve 50 371bft
Oil Pump Cover Bolts 8 711bin

https://dh.identifix.com/SearchFixes/Index?ROID=332530727&VID=2377372&VSM=1&Locationld=2&WorkflowPath=1&KW=Cam Cover#KW=Cam%2...

2/4



11/16/22, 3:29 PM Direct-Hit -- Search

Specification

Application Metric English
Oil Pump Housing Plug (M10) 10 891Ibin
Oxygen Sensor to Exhaust Manifold 42 311bft
Oxygen Sensor to Exhaust Front Pipe 42 31Ibft
Piston Oil Nozzles to Block 25 18 Ibft
Spark Plugs 25 18Ibft
Starter Bolts 25 18Ibft
Throttle Body Bolts 9 80Ibin
Timing Chain Guide 8 711lbin
Timing Chain Tensioner 8 711bin
Timing Chain Tensioner Plug 35 261bft
Timing Chain Tensioner Shoe 20 15Ibft
Turbocharger Coolant Feed Pipe to Engine Block 30 22 1bft
'[_[;Jt;?nogc)harger Coolant Feed Pipe to Turbocharger (Quick 20 151b ft
'[_[;Jt;?nogc)harger Coolant Return Pipe to Turbocharger (Quick 20 151b ft
Turbocharger Qil Feed Pipe to QOil Cooler/Filter 8 711bin
Turbocharger Oil Feed Pipe to Turbocharger 30 22 1bft
Turbocharger Qil Return Pipe to Turbocharger 8 711bin
Turbocharger to Cylinder Head 8 (1) 711bin(1)
Water Outlet 8 711bin
Water Pump Housing Bolts 8 711bin
Water Pump Drain Plug 15 11Ibft
Water Pump Pulley Bolts 22 161bft

1 =Use NEW Fastener.

© 2014 General Motors. All rights reserved.

Portions of materials contained herein are sourced from General Motors Inc., Co.

https://dh.identifix.com/SearchFixes/Index?R0OID=332530727&VID=2377372&VSM=1&Locationld=2&WorkflowPath=1&KW=Cam Cover#KW=Cam%2... 3/4



11/16/22, 3:29 PM Direct-Hit -- Search
Copyright 2007 - 2014 Service Repair Solutions, Inc.

https://dh.identifix.com/SearchFixes/Index?ROID=332530727&VID=2377372&VSM=1&Locationld=2&WorkflowPath=1&KW=Cam Cover#KW=Cam%2... 4/4



